
Problema DIS-S1-001 : Sistema di disequazioni 
RD 
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DIS-S1-001-Testo 
 
Risolvere il seguente sistema: 
 

6 0
2 1

3 0

X
X

X

− >⎧
⎪ + ≥⎨
⎪− − <⎩

 

 
DIS-S1-001-Procedimento 
 

Problema 
Problema 
Problema 

Ι⎧
⎪ ΙΙ⎨
⎪ ΙΙΙ⎩

 

 
)         6 0         6               6

)        2 1              1 2             1

)    3 0         3              3

X X X

X X X

X X X

Ι → − > → − > − → <

ΙΙ → + ≥ → ≥ − → ≥ −

ΙΙΙ → − − < → − < + → > −

 

 
 

 
 
DIS-S1-001-Soluzione 
 

1 6X− ≤ <  
 


